MATH 210: 1/29 WORKSHEET

For the following, determine with the expression is infinitesimal, finite but non-infinitesimal,
or infinite. Here ¢ is infinitesimal, a is positive and finite, and H is positive and infinite.
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For the following, determine the standard part of the expression, or say why the standard

part is undefined. Here ¢ is infinitesimal, a is positive and finite, and H is positive and
infinite.
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Calculate the following limits. Here a is a positive real number.
(1) lim 3a* + 3azx + 1
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